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@D 330a=3.3ha
® 540000m? = 54 ha

® 1.7km? = 17000 a
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D 0.02km? @ 0.2ha 3)2000a
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® 2000a = 20 ha
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@O 8000g = 8kg @ 0.4t =400kg
® 1300kg = 1.3t @o.m =170g

® 5630000 g = 5630 kg

1t = 1000 kg = 1000000 g
@ 0.17t = 170000 g




ol 25259 $aS 62 ol o 9L, el 22541
530S 59 5 o QST b shRe] B &4 o g g
U7

O Hgolrt YR 3 24 o el
@ wgol7t el 5 24 1 99
@) vrai7t Bgol st 3 24 o QgAY
@ el7} ol 5 24 o 99
® el fedolnt 6 24 o A9

Bf9d : 252 + 6=42(%),
] 1 225+ 5=45(%),
w7t ol Bt 5hFof 45 - 42=3 &4 o A5 YT




12, Foy &0 25 &0] 47, B2k 7] 87, gk F&o] 270, @
F&o) 37) Bol Uk of FHUAA & A AYE W, B
A90] ol ok} 28 ot A ool e A5HE 42
vhebd 28 the FA DEAS,

1 3 5 7 9
Oy 9 O Wi O
DEAQOI 4 :448+2+3=1T7
22 JZolu} 8] L&o] e AL o] &

44+3=17

7

T4 0

]-OO 17




O 5 24 ot 02 WHshe Alttol

D 404+5 @ 5.1+6
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D 042+6 @3.12+2
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D 96+24-1.2 @ 96+24+1.2

® 9.6-1.2+24 @(9.6—1.2) +24
® (9.6+1.2)+24
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